MAT 142, Quiz #7, Sprir
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ork. Give exact answers unless specifically asked to round.

‘a ball bounces varies directly as the height from which it was dropped. A tennis

m a height of 12 inches bounces 8.4 inches. From what height was a tennis ball

ounces 56 inches?
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ber of daily phone calls ¢ between two cities varies jointly as their populations

P; and P,, and inversely as the square of the distance d between them.
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bﬁetween San Francisco (pop. 777,000) and Los Angeles (pop. 3,695,000) is 420

i:erage number of daily called between the cities is 326,000, find the value of
k to two deciJ)al places.
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Memphis (pop. 650,000) is 400 miles from New Orleans (pap. 490,000). Find the average

number of daj

C=.

y phone calls between the cities rounded to the nearest whole number.
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